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A-—(BNC)=ANn(BNCY=An(BUC)=(ANB)UANC)=(A—-B)U(A-C) Y

{x+2y=5 x=3 A

x—2y=2 y=1 (

22 =2"—384 = 2" x =384 =2"=""=512=2"=2"=n=9 @

X —-x=0=x=0,x=1=p(A)=22=4= P(P(A) =4>=16 (-
4zt o 5Lt A — ByB wslin 909 AUB=BU(A—B) M
p(AUB) = P(B) +p(A—B) = p(B) +p(A) —p(4 - B)
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p(ANB)=0.23+0.2—-0.38=0.05 (@O

p(B—A)=0.2—0.05=0.15

P(ANB)=1-0.38=0.62

(¢

AxXxB=1{(2,-1),3,-1),(2,4),(3,4),(2,5),(3,5)}
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https://hamyar.in/
https://play.google.com/store/apps/details?id=apphamyar.com
https://cafebazaar.ir/app/apphamyar.com
https://myket.ir/app/apphamyar.com



